
Rocko
Manual Height Adjustable 
Workbench With Pegboard

User Manual

Imported By: Forward Industries, 33401. U.S.A

Product Ref-HM-WB002-001

Issue 1  -  09/09/21



507

�����������������
��



� Table Top Qty 1 
(47.2*23.6*1.0")

� Leg(right) Qty 1 
(27.4*2.0*3.1")

� Leg(le�) Qty 1 
(27.4*2.0*3.1")

� Foot Qty 2
(23.6*2.8*1.2")

� Transmission Cover Qty 1 
(31.3*2.7*1.2")

� Leg Support Qty 1 
(33.5*6.0*3.0")

� Transmission Rod Qty 1 
(37.4")




 Handle Qty 1 
(4.9*5.2*φ1.0")

� Crank holder Qty 1 
(5.7*3.0*2.0")

�� Pegboard Support
(le�) Qty 1 
(25.6*7.9*0.8")

�� Peg board Qty 2 
(43.9*5.9*0.8")

�� Pegboard Support
(right) Qty 1 
(25.6*7.9*0.8")



A

M6 Screw Qty 20 (M6*0.63")

B

M6 Screw Qty 6 (M6*0.39")

C

M5 Screw Qty 1 (M5*0.24")

D

M8 Screw Qty 4 (M8*0.63")

G

Spanner Qty 1
(5.12*0.98*0.28”)

E F

J

Spring Washer φ0.24" Qty 12

H

M6 Screw Qty 8 (M6*1.18")

4x4 Allen key Qty 1
(0.16*0.16*2.44”)

3x3 Allen key Qty 1
(0.12*0.12*2.32”)

I

4

2.5x2.5 Allen key Qty 1
(0.1*0.1*2.01”)



H

H

�

�

�

A

M6 Screw Qty 8

E

4x4 Qty 1

H

M6 Screw Qty 8

E

4x4 Qty 1

SHOWN UPSIDE DOWN

SHOWN UPSIDE DOWN

Front

Back

Assemble legs        and
        to the underside 
of table top using 
screws      .A

STEP 1 
�

�

IMPORTANT
During assembly, ensure the height of the 
legs remains the same on both sides!

A

A

�

�

�

Underside

Front

Back

Assemble feet        to 
legs        and        using 
screws      .H

STEP 2

�

�

�

5



a. Push transmission rod         
through the hole in leg         
(or         ).
b. Push the rod all the way 
through and engage it into 
the hole in the opposite leg. 
Secure from the outside of 
the opposite leg using screw 
       as shown.C

6

STEP 3

�

�

�

�

�

�
�

B

M6 Screw Qty 6

�

�

�

The transmission rod can be inserted either 
from the le� or right leg depending on which 
side you want the adjustment handle.

E

4x4 Qty 1

SHOWN UPSIDE DOWN

SHOWN UPSIDE DOWN

Front

Back

Collar

Front

Back

C

M5 Screw Qty 1

F

3x3 Qty 1

C

a.

��
Insert

Rotate the fine adjustment to 
the hole posi�on when inser�ng

a.
C

�

Tighten
b.

b.

Assemble transmission 
cover       in between 
legs       and       using 
screws       .B

STEP 4

�

�

� Tighten
BE

�
�

TightenB E

�
�



d.

         
a. On the side of the 
adjustment handle, remove 
the 4 screws preassembled 
into leg        or        .
b. Assemble crank holder        
over the exposed end of 
transmission rod        . 
Secure using the screws 
removed in a. above.
c. Remove the small grub 
screw in crank holder        as 
shown.
d. Insert handle        into the 
end of the crank holder        
and secure using the grub 
screw removed in c. above.

D

M8 Screw Qty 4

G

Spanner Qty 1

7

STEP 6

�

�

�

E

4x4 Qty 1

� �

�

�

�

�



SHOWN UPSIDE DOWN

Front

Back

a. Remove the caps on each 
end of legs support        .
b. Ensuring the small holes 
are facing up as shown. 
Assmble leg support        to 
the back of legs        and        
using screws       .
c. Replace the caps into leg 
support        .

STEP 5

�

�

�

�

�
D

D

G

b.

Cover with 
cap

c.

�

Remove the 
cap

a.
�




�

D

D

Small hole up

�

b.

�

�

Insert

Tighten







�

�

or �� Pay a�en�on to 
arrow direc�on

�

�

�

�

I

2.5x2.5 Qty 1

E

I

I

a.

d.

b. & c.



8

��

��

��

A

A
J

J
A

��

��

��

��

A

M6 Screw Qty 4

A

M6 Screw Qty 8

With help, stand the 
desk upright.
     Warning the desk is 
heavy, li� with care.
Assemble pegboard 
supports        and        to 
the underside of table 
top        using screws     
and spring washers      .

STEP 7

��

�

��

A
J

��
Front

Back

With help, locate 
pegboards        in 
between supports        
and        . 
Secure using screws      
and spring washers      .

A
J

STEP 8

��
��

��

��

SHOWN FROM BACK

A
J

J

Washer φ0.24" Qty 8

J

Washer φ0.24" Qty 4

AJ



If you have ques�ons regarding the opera�on of your purchase, or in the unlikely event you need to return the 
unit because it is faulty or is no longer wanted, please contact our product returns department at 
customerservice@forwardindustries.com, or 561-465-0030, Op�on 0. 

Address: Forward Industries, 105 South Narcissus Avenue Suite 412, West Palm Beach, FL 33401

STEP 9

9

Pull out the crank 
handle to use.

Rotate an� clockwise to raise desk top.
Rotate clockwise to lower desk top.

Push the crank inward 
to lock it a�er use.

Height Adjustment(Crank Handle)

Lock Adjust

Assembly is complete


